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Product information

M9
Product Name
MZEA(S==LA)

manufacturer

@ =0l (Toppoki)

+ &% Product name :
Gnocchi

+ HZAF manufacturer
Carrefour

NS FALRIZ

Similar products on the == T 1YY

market

Selling price in the country
1.69 EUR /
¢+ HIZ & E2FUM 21D A2
H AHIXS0l 2= WS

Gnocchi
a poeler-om te ba

OFUEIAE =& @0 & SEX =

Date of consumer’s survey and numbers of respondents

=& 2R

Date of survey

= SEA =

Number of respondents

=4 21

Analysis result

AHIAF K8 / Consumer type




g4 A4
Gender Age
male 13 20s : 4/ 30s : 7/ 40s+ : 2
female 179 20s : 4/ 30s : 9/ 40s+ : 4
K= =IO (1) / Product evaluation
Sol J2IXIRICH =INET 2=0ICt = Ol I=CH
Strondy disagres Disagree Neutral Agee Strondy agree
WIA &S 901 o (0o
Package preference
A!/_\! o e . 29 14 109 74
Impression before eating
A& = B} o o o o
Evaluation after eating = 23 123 153
H!OI%J =) . 29 9g 8y 114
Naming evaluation
4E B} o o o
Productivity evaluation = 93 143
.3}21 Jgj}. 29 49 9g 159
Price evaluation
M= Il (2) / Product evaluation
gli:i: /e N dlol A a9
- F g = .
(Package (Flavor/ (Food (Taste) (Naming) (Price) (Other)
. Scent) texture)
design)
BIE Q01 (273) o o o
Satisfying factor 5 9% e
E0E @0l (3H) ooy o
Unsatisfying factor
HAIE & A SEEA / Supplement and comprehensive analysis
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H &l / Future plan
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